
SAP ABAP table COIOP {Object + partner object + object data}

COIOP

VNAME [CHAR (6)]

RECID [CHAR (2)]

EGRUP [CHAR (3)]

PVNAME [CHAR (6)]

PRECID [CHAR (2)]

PEGRUP [CHAR (3)]

T8JF

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

EGRUP [CHAR (3)]

 COIOP-EGRUP = T8JF-EGRUP 
0..N

0..N
 COIOP-PEGRUP = T8JF-EGRUP 0..N

0..N
T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 COIOP-PRECID = T8JJ-RECID 0..N0..N
 COIOP-RECID = T8JJ-RECID 

0..N0..N

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 COIOP-PVNAME = T8JV-VNAME 

0..N

0..N

 COIOP-VNAME = T8JV-VNAME 

0..N

0..N


